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May 21, 2018  

Kobrin/Losquadro




Math 8 

Solving/Writing Equations Final Review 1 
Part I – 

1) In solving the problem below, which step is incorrect? 

7(2x + 5) – 7 = 32 

a. Step 1: 14x + 35 – 7 = 32 
b. Step 2: 14 x + 42 = 32 
c. Step 3: 14x + 28 – 28 = 32 – 28 
d. Step 4: 14x = 4 
2) Solve: 
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a. x = -60
b. x = 30
c. x = 60 
d. x = -36
3) Which has the same solution as 2(x + 4) = -7 – 3x? 

a. 5x = 15 

b. -5x = 15

c. –x = 11

d. x = 15 

4) Find the value of n.  19n – 57 = 76 

a. 1

b. 2

c. 3

d. 7

5) Solve for x: 14x + 84 = 154 

a. 4

b. 5

c. 11

d. 238

6) The problem below contains at least one error  


4(2x – 2) + 12 = 21

             8x – 8 + 12 = 21
(Line 1) 

               8x – 4 = 21 

(Line 2) 

        8x – 4 – 4  = 21 – 4 
(Line 3) 

                 8x = 17 

(Line 4) 
                  8x = 17 

(Line 5) 

                  8       8 

                    x  = 
[image: image2.wmf]8

1

1



(Line 6) 

a. Lines 1, 4 & 5   

b. Line 2 ONLY 

c. Line 3 ONLY 

d. Lines 1, 2, & 3 

7)  Solve: 3(x – 2) – 1 = 6(x + 5) 
a. 
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b. 
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c. 
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d. 
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Part II – ALL WORK MUST BE SHOWN 
8) Solve and Check the equation: 
[image: image7.wmf]8

3

)

4

(

5

-

=

+

n

n


9) Simplify the expression: 6(8 – 9x) – 7 – 7x – 2(x + 3)
10) Solve and Check the equation:  3(2x – 5) – 4(x – 5) = 7
11) Find the value of x that makes the equation true 

5 + x – 3(x + 4) = =17 

12) The problem below contains at least one error.  Find the error(s) and correct the problem.  Show your work for each step. 

6(x + 13) = 39


6x + 78 =  39


6x+ 78 + 78 = 38 + 78 


6x = 116


6x = 116
6 6

x =  
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13) Hugo received $100 for his birthday. He then saved $20 per week until he had a total of $460 to buy a printer.  Use an equation to show how many weeks it took him to save the money. 
14) One cell phone plan costs $29.94 per month plus $0.10 for each text message sent.  Another plan costs $32.99 per month plus $0.05 for each text message sent.  For what number of text messages will the monthly bill for both plans be the same?
15) Johnny wants to ship a package to his friend.  A shipping company charges $2.49 for the first pound and $1.24 for each additional pound.  If it cost Johnny $11.17 to ship the package, how much did his package weigh?
16) Jackie owns twice as many DVDs as Louis.  Bruce has sixty fewer DVDs than five times Louis's collection.  If Jackie and Bruce have the same amount of DVDs, how many DVDs are in Louis's collection?
17) You want to join the tennis team.  You go to the sporting goods store with $100.  If the tennis racket you want costs $80 and the tennis balls cost $4 per can, how many cans of tennis balls can you buy? 

18) A health club charges a $50 initial fee plus $2 for each visit.  Mary has spent a total of $144 at the health club this year.  Use an equation to find how many visits she made.  
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